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For everyone agrees that a G’zayroh Shovoh is preferable

OVERVIEW

The Xn>72 cites a dispute whether one can free half an 72v with a q0w. Initially the
X3 wanted to say that °27, who maintains that he can be freed, relies on the wp
(of "vw to 1nn), and the 0°»om, who maintain he cannot be freed halfway, rely on
the mw 771 of 7% 7% (from 72V to 7WwR). Their argument is which is more effective
a w"m or a wp . However X271 argues that all agree that a w" is preferable than a
wp i (and their argument hinges on something else). N501n qualifies this statement
of Xa1.

mMooIN anticipates a difficulty:
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In the beginning of 322 ™R P75 and in Awnw 2T P99 there is a dispute

between ¥''1 and the 3329 -
- 2R9TY NYIPN NYY 991997 $1aun) 1My pava

Regarding questionable nmp», and it seems that all agree that a wp is
preferred over a w"n, so how can 821 state here that X9>7v w"n ¥">?!

mooIn responds:
19 NP3 39 NN YOV 18T DIVN SINY XON

Here (by 72v) it is different because the entire concept that "uw is effective by an
72V is derived through a @'t from nwx, therefore in this case only, the " is dominant

SUMMARY
Generally X577y Xw°pi, however here, since the entire concept of “vw by 71V is
derived from this w"13, therefore X271 can say X297y w"Ta.

! One who is in doubt whether he transgressed 33w3 a sin, which requires a nxun offering, is required to bring an
*Yon owX. The issue is what is the ruling if he is in doubt whether he was w1pna 91 (used wipn property for his own
needs). One who is 23 in wTp7 brings an awR offering (not a nXwvn); the argument there is whether there is an owx
170 for 72°yn (which requires not a nXwn obligation but an WX obligation).
2 The o°o0 of "0 owx follow immediately after the 2’105 of N?°yn awX (this is the wp i which would indicate that
there is an "%n awx for N2°y» poo). However there is a w"1x of Mxn myn (which are written by ™70 awR and nxwn)
which indicate that only by a nXun 90 is there an "172n owX. However the X713 there concludes that all agree that
RDTY XWp1, the opposite of what X217 states here that X571y w1 ¥'"2.
3 We know that a 70w is effective by an *1v13 72v (both to acquire him and to free him), only from this w"1 of 77 5.
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THINKING IT OVER

Why was it necessary for 827 to say that X977y w"1a ¥", he could have said that ¥">
XDy Rwpi (as it says in the other N17n3) however here the 051 maintain that
since 12 RXpo1 W"an W Py, therefore here we cannot follow the wp*1; why the
need to say X7V w"1x ¥"3, when generally this is not the case?!*

4 See X"wnn ,0"nn and TMYNT WO IR # 175.
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